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WEST BENGAL STATE COUNCIL OF VOCATIONAL EDUCATION & TRAINING
Higher Secondary (Vocational) Examination, 2011

CLASS-XII
(For Regular & Casual Candidates)

MoxocaroME (B/W) & Covrour TV MECHANIC
Time Allowed: 2 Hours Full Marks: 50

[Answer can be written in English or Bengali or Hindi or Nepali only.]
Question No. 1 is compulsory and answer any five from the rest.

Write True or False (any five): ' Sx2=10
(a) VSB stands for vestigial double side band.
(b) Keyed AGC isusedinTV.
(c) Interlaceratiois2: 1.
(d) Aspectratiois3:4.
(¢) Folded dipole antenna is used due to high impedance.

(f) Horizontal synchronous separator is a low pass filter section.

. What is Amplitude modulation? Derive the expression for the AM wave. What do you mean by modulation

index? 2+4+2=8

Explain any fwe of the following; dx 2=8
(a) TV tuner, (b) AGC, (c) Scanning process.

Draw the block diagram of a monochrome TV transmitter and receiver. 4+4=8

(a) What is flicker? How flicker can be avoided?
(b) Draw the composite video signal and level the different portion.

{c) What do you mean by line frequency? What is its value in CCIR standard? (2+H1)+342=§

. Explain with diagram the working principle of Vidicon camera tube. 8
Write about the antenna and feeder line used for TV reception. 6+2=8
Write in brief about DSB, SSB and VSB modulation, What is FM? 8
Write short notes on: {a) EHT, (b) PAL Encoder. 4% 2=8
Discuss about Satellite Communication used for TV transmission and reception. 8
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